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Sign bit => 0
Exponent : 127-2 = 125 = 01111101
Mantissa : 11001001000000000000000
25 = � QUOTE � ���





個位數：6 + 6 = 12 = � QUOTE � ���


十位數：5 + 5 + 1 = 11 =� QUOTE � ���


百位數：0+1





個位數：25=� QUOTE � ���


十位數：10+3=13 = � QUOTE � ���





十位數：10=� QUOTE � ���


百位數：2*2+1 = 5





個位數：4


十位數：6+3= 9 =� QUOTE � ���


百位數：1+5+1= 7 =� QUOTE � ���


千位數：1





個位數：8+8=16 = � QUOTE � ���


十位數：0+1 = 1





個位數：6*6= 36 = � QUOTE � ���


十位數：6*1+2= 8





個位數：4+0=4


十位數：8+6=� QUOTE � ���=� QUOTE � ���


百位數：0+1=1





個位數（不夠借位）：16+2-9 = 9


十位數（被借走一）：2-1-1 = 0








